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Embryology, Exam 1, Spring 2009

1.
Which of the following is of 2n, 4c composition?


a.  primary oocytes
x


b.  oogonia


c. primordial germ cells


d. spermatogonia

2.
Which of the following has the chromosomal characteristic 1n, 2c?


a.  primordial germ cell


b.  primary oocyte


c.  spermatid


d.  secondary spermatocyte
x

3.
Which of the following is essentially inert (is not associated with LH or FSH)?


a.  theca interna


b.  Leydig


c.  theca externa
x


d.  Sertoli

4.
The granulosa cells that cover the zona pellucida after ovulation is called the _________.


a.  theca externa


b.  corona radiata
x


c.  cumulus oophorus


d.  stigma

5.
The __________ has receptors for luteinizing hormone.


a.  zona pellucida


b.  cumulus oophorus


c.  theca interna
x


d.  yolk sac

6.
Normally the menstrual cycle is about _____ days.


a.  10


b.  19


c.  28
x


d.  36

7.
The proliferative phase of the menstrual cycle is due to the hormonal influence of ______ 
on the endometrium, directly.


a.  estrogens
x


b.  FSH


c.  testosterone


d.  progesterone

8.
The proliferative phase of the menstrual cycle is due to the hormonal influence of ______ 
on the endometrium, directly.


a.  estrogens
x


b.  FSH


c.  testosterone


d.  progesterone

9.
Before sperm can fertilize an egg it must undergo __________ in the female reproductive 
tract.


a.  capacitation

x


b.  spermiogenesis


c.  an acrosomal reaction


d.  meiosis II

10.
Fertilization usually occurs in _________ of the fallopian tube.


a.  fimbria


b.  infundibulum


c.  ampulla
x


d.  isthmus

11.
For the embryo proper derives from the _________.


a.  zona pellucida


b.  inner cell mass
x


c.  outer cell mass


d.  theca externa

12.
The blastocyst hatches from the _________ just before implantation into the 
endometrium.


a.  zona pellucida
x


b.  inner cell mass


c.  outer cell mass


d.  theca externa

13.
The early embryo and yolk sac are in the _________.


a. chorionic cavity
x


b.  amniotic cavity


c.  intraembryonic cavity


d.  lacunae

14.
Which of the following is associated with the yolk sac?


a.  hypoblast
x


b.  cytotrophoblast


c.  syncytiotrophoblast


d.  epiblast

15.
The _________ is a tubular evagination of the hindgut and not used in humans.


a.  primitive streak


b.  allantois
x


c.  primitive node


d.  buccopharyngeal membrane

16.
The primitive pit is also called __________.


a.  Henson’s node
x


b.  the notochord


c.  primitive streak


d.  placenta

17.
The _________ is a major contributor for the development of axial structures.


a.  prechordal plate


b.  notochord

x


c.  buccopharyngeal membrane


d.  allantois

18.
The three germ layers develop from cells that passed through the __________.


a.  primitive streak
x


b.  allantois


c.  primitive node


d.  buccopharyngeal membrane

19.
The neural plate develops from the __________.


a.  the hypoblast


b.  epiblast
x


c.  cytotrophoblast


d.  yolk sac

20.
Blood and blood vessels in tertiary villi are derived from __________ cells.


a.  cytotrophoblastic


b.  syncytiotrophoblastic


c.  endometrial


d.  mesodermal
x

21.
Neural crest cells may give rise to many tissue types.  Which of the following is not one 
of them?


a.  enamel of teeth
x


b.  dorsal root (sensory) ganglia


c.  melanocytes


d.  autonomic postganglionic nerve cells

22.
Which of the following gives rise to dorsal root ganglia?


a.  anterior neuropore


b.  neural tube


c.  gut tube


d.  neural crest cells
x

23.
The vertebrae are formed from _________.


a.  dermomyotomes


b.  sclerotomes
x


c.  myotomes


d.  dermatomes

24.
The midgut communicates with the yolk sac through the __________.


a.  allantois


b.  vitelline duct
x


c.  oropharyngeal membrane


d.  cloacal plate

25.
The neural plate is derived from __________.


a. splanchnic mesoderm


b.  endoderm


c.  somatic mesoderm


d.  ectoderm
x

